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[FR2 58
N 7BX] 8AX 9AX] 108X 118X 128X 18X 2AX] 3BX]
= E ¥ =& = ¥ 9,469 9,469 9,469 9,469 9,469 9,469 9,469 9,469 9,469
B ] & 2] 1,822 1,798 1,763 1,737 1,733 1,735 1,723 1,712 1,684
2] T ] El 979 1,29 1,433 1,505 1,568 1,644 1,678
B X £l 1,663 1,835 1,973 2,087 2,129 2,165 2,191 2,209 2,217
B IN & B4 0.91 1.02 112 1.20 123 1.25 127 1.29 131
i3 [} 2] E & 55.5 74.6 82.7 86.7 91.0 96.0 §9.1
[FR285E
A 7RE 8 AX ELZES 1 0FF] 118X 1 2% 1A% 2A% 38X
T ¥ ¥ E =B ¥ 0,634 9,634 0,634 9,634 0,634 9,634 9,634 0,634 9,634
K ] & £l 1,922 1,935 1,918 1,916 1,875 1,881 1,830 1,816 1,813
] E & B 1,125 1,402 1,561 1,637 1,683 1,756 1,798
E3 N 3 1,943 2,055 2,173 2,248 2,290 2,321 2,351 2,370 2,376
K PN & % 101 1.06 113 117 122 123 128 131 131
B3 [} 2] T = 58.7 732 833 87.0 92.0 96.7 99.2
[FR2958
H 7RX] 8AX| 9AX] 108X 118X 128% 1A% 2AX] 3BK]
| 9,370 9,370 9,370 9,370 9,370 9,370 9,370 9,370 9,370
B 1,830 1,809 1,791 1,812 1,805 1,801 1,804 1,789 1,785
31 1,202 1,449 1,564 1,636 1,680 1,741 1,775
5 2,19% 2,352 2,450 2,524 2,569 2,583 2,595 2,606 2,609
= 1.20 1.30 137 1.39 1.42 143 1.44 1.46 1.46
By 67.1 80.0 86.6 90.8 §3.1 7.3 §9.4 1
[FR305E
| 7BX] 8AX 9AX] 10A% 118X 128% 18X 2AX] 3BX]
= E ¥ =& = 5 9,353 9,353 9,353 9,353 9,353 9,353 9,353 9,353 9,353
B3 ] 3 2] 1,940 1,860 1,862 1,854 1,839 1,841 1,816 1,809 1,787
&} E & # 1,217 1,484 1,589 1,647 1,687 1,755 1,781
R I £l 2,652 2,770 2,830 2,927 2,961 2,996 3,011 3,024 3,026
K X & Ed 137 1.49 152 1.58 161 163 1.66 167 1.69
% [ 2] E Eq 65.4 80.0 86.4 89.5 929 97.0 99.7
[FinaE
H 7R% 8AX ELEES 1 0FF 118X 1 2% 1A% 2A% 38X
= ¥ ¥ E =B ¥ 9,048 9,048 9,048 9,048 9,048 9,048 9,048 9,048 9,048
K -] & 2| 1,799 1,771 1,763 1,787 1,763 1,754 1,746 1,728 1,719
& E & B 1,183 1,358 1,502 1,565 1,612 1,677 1,708
K N # 2,568 3,106 3,179 3,547 3,267 3,306 3,331 3,336 3,335
E IN & ﬂ 165 175 1.80 1.81 1.85 1.88 191 193 1.94
i3 [} 2] E pd 67.1 76.0 852 89.2 923 97.0 99.4
[PH2ER
B 7RBX] 8AX 9AX] 108X 118X 128% 1A% 2AX] SEi
= ¥ ¥ & = ¥ 8,566 8,566 8,566 8,566 8,566 8,566 8,566 8,566 8,566
E [ 3 2 1,536 1,458 1,424 1,399 1,395 1,376 1,361 1,350 1,335
] E & 5 916 1,065 1,303 1,235 1,287 1,320
B A B 2,320 2,432 2,497 2,576 2,659 2,718 2,763 2,774 2,781
3k PN & = 1.51 167 175 1.84 191 1.98 2.03 2.05 2.08
B3 ] 2] E EY 65.5 76.3 87.4 90.7 95.3 989
[F3EE
B 7RE 8AR] ELEES 10AH 11A% 128X fzES PEES 3B
ET| 8,362 8,362 8,362 8,362 8,362 8,362 8,362 8,362 8,362
2] 1,333 1,306 1,273 1,275 1,280 1,284 1,278 1,283 1,276
Bl 833 1,013 1,094 1,154 1,190 1,238 1,271
] 2,427 2,507 2,579 2,653 2,686 2,711 2,729 2,742 2,746
B4 1.82 1.97 2.03 2.08 2.10 211 2.14 2.14 2.15
& 65.4 79.5 85.5 89.9 931 96.5 996
[FaEE
A 7RE 8AX ELEES 1 0B 118X 1 2% 1A% 2A% 38X
T ¥ ¥ E & ¥ 7,966 7,966 7,966 7,966 7,966 7,966 7,966 7,966 7,966
B ] & El 1,208 1,173 1,155 1,183 1,202 1,211 1,211 1,192 1,170
&l E & B 769 938 1,018 1,060 1,092 1,141 1,167
E PN 31 2,724 2,825 2,874 2,911 2,935 2,959 2,970 2,988 2,691
K PN & d 2.25 241 2.49 246 2.44 2.44 2.45 251 256
B3 [} 2] 3 = 66.6 79.3 84.7 87.5 90.2 95.7 99.7
[BASER
B 7RBX] 8AX EZES 108X 118X 128% 1A% 2AX] 3K
F = ¥ = = ¥ 7,657 7,657 7,657 7,657 7,657 7,657 7,657 7,657 7,657
B (] & 2] 1,138 1,119 1,123 1,135 1,145 1,139 1,139 1,140 1,134
] E & ﬁl 778 899 971 1,028 1,050 1,095 1,126
B X 2] 2,508 2,992 3,034 3,078 3,106 3,130 3,133 3,141 3,148
By A & {1 2.56 2.67 2.70 2.71 271 2.75 2.75 2.76 2.78
B3 ] 2] E = 69.3 79.2 84.8 90.3 922 96.1 99.3
[FileaE
N 7BX] 8AX 9AX] 108X 118X 128X 18] 2BX] 3BX]
= =2 v = 2 & 7,607 7,607 7,607 7,607 7,607 7,607 7,607 7,607 7,607
B ] & 2] 1,19 1,181 1,160 1,144 1,144 1,132 1,135 1,134 1,121
2] & & el 744 908 978 1,011 1,038 1,089 1,118
K X # 2,862 2,630 2,969 3,058 3,087 3,102 3,116 3,121 3,121
B IN & = 2.39 2.48 2.56 2.67 2.70 2.74 2.75 2.75 2.78
B3 [ 2] E B4 64.1 79.4 85.5 89.3 915 96.0 99.7
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